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b, 0., 1, Thruster

M;, N,

, Calculate
Desired State

Calculate
Euler Angle

Dynamic
Inversion

| Thruster firing logic
(Exhaustive)

M,N

Integration
(4th Runge-Kutta)

Flight Dynamics
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Input : M., N, 1,
Output : M,N,i,,Selected_thruster

1: procedure EXHAUSTED ALGORITHM(M,., N.,i,)
if time_step is a multiple of 0.1/dt then
for all (N;, M;) in TM do

dif f.TM /(N — N.)® + (M, — M,)?
end for
find index such that dif f T M|index| = min(dif f . TM)
Selected thruster < index
iy — i, — Selected_thruster
M,N < TM(index)
Count = (0
else if Count < tb/dt then
M,N « TM/index)
13: Count + Count + 1
14: else
15: M.N «0
16: end if
17: return M. N.i,. Selected_thruster
18: end procedure
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